N of reco track vs dxy

N of associated (recoToSim) tracks vs dxy

N of associated (recoToSim) looper tracks vs dxy

%] F %] 2] 4]
x L X < x
[*] L 5] 5] 5]
g s g 8
=10k = s =
2 3 £
r =
10°F 3
10°F
10F
1 S
g - T
24 LE- v rT|1r_D 34 C I5F--r--= CREEY
- FEN SRR :
09F--teedaaet 3 ELER] TERLEE . . . oo roor o
0 R 4 i I IR i o R IR VTRV IR F R T
—25-20-15-10-5 0 5 10 15 20 25 10 15 20 25 =25-20-15-10-5 0 5 10 15 20 25 -25-20-15-10-5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
[N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
1%} %] 2] 4]
x < X x
[=} [=} [=3 (=)
g s 8 8 F
[} [} Q
=
=]
=
. R R S U TN N || A
3 g I g :
o 14 o4 o !
H Il : = = - -
0% 0 10 20 30 -30 -20 -10 O 10 20 30

0
track dz (cm)

track dz (crr;)

10 20 30

track dz (cm)

track dz (cm)



	Contents
	Page 1


